GENERAL SCIENCE /IMPORTANT QUESTION — SAMPLE PAPER 12

1.In the given picture name the plant?

feu are AT & gl 1 917 gare?

Adventitious
Bud

(a) Rhizopus / I8a9d

(b) Bryophyllum / ST TheleT
(c) Planaria / TolaIRaAT

(d) Hydra / 81$gT

2. Measles is caused by which of the following virus ?

G foeT 7 & fohe fawTo] o HROTEIATE ?

a) Varicella virus/ GYTT aR—RA
b) Entero virus /UWT%NTUI

c) Variola virus/ 3RTer fawroy
d) Rubella virus/mﬁ'qrﬂ;r

Rubella is a contagious viral infection best known by its distinctive red rash. It's also called
German measles or three-day measles. This infection may cause mild or no symptoms in
most people. However, it can cause serious problems for unborn babies whose mothers
become infected during pregnancy.

AT Teh el dRR THAUT § o0 5T fAfdse ard gsvd & S&E7 1T 8l
Y 8T WERT AT AT T ol @I Y gl JAdm &1 I§ THHAUT ST A &
goch AT IS WI&T0T TgT Uel Y TehdT ¢| gTellfeh, T§ 3o1 ToleH ol & fov ITHR
FHEATT YT T Fehal § ST ATV IrTaedr & el A & oY §)
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Chickenpox vs. Measles

Chickenpox Measles
fever El

headachej ‘ h

o fever

[

red, blotchy rash
first appears on
the forehead

v\ red, inflamed
eyes

tiredness or fatigue -

’ runny nose
red spots first S
appear on the :
chest, face, and J

back hacking cough

o '. i and sore throat

decreased appetite | . o
S m— L | \_ Koplik's spots
g 2 \ y inside the mouth

itchy blisters

L] L] L L] .
spots turn intob . < S e

3. Consider the following statement

Aol saa X faarR wF

1. Amoeba have definite shape/ 37HST &1 [ARTd 3TPR gIaT g

2. Malaria parasite and Amoeba grouped under Protozoa. / H AT GairaT 3R 37#iar hr
SIS o T qafiehet feham arm|

3. Euglena is also known as green Protozoa / JaTolell ! TeT WETSII3T o AT & &1 ST
ST &

Which of the statements given above are correct? / W%U?Naﬁﬁﬁa?ﬂﬁﬂ'@r%?
(a)1,2,and 3

(b)1and 2

(c)2and3

(d) None of the above/3d® § HIs gl

Protozoa is an informal term for a group of single-celled eukaryotes, either free-living or
parasitic which feed on organic matter such as other microorganisms or organic tissues and
debris.

An amoeba An amoeba often called an amoeboid, is a type of cell or unicellular organism
which has the ability to alter its shape, primarily by extending and retracting pseudopods.
Malaria Malaria is a mosquito-borne infectious disease that affects humans and other
animals. Malaria causes symptoms that typically include fever, tiredness, vomiting, and
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headaches. Malaria is caused by single-celled micro-organisms of the Plasmodium

group. The disease is most commonly spread by an infected female Anopheles mosquito.
Euglena is a genus of single-celled flagellate eukaryotes. It is unique as it is both
heterotrophic (must consume food) and autotrophic (can make its own food) in nature. It is
also known as green protozoa.

WIEISAIIT Uehol-HIRAHT dTel HRACH & A & AT U Ao Aqsq g, AT ot
HFA-SNAd AT GENdT S 3T GEASal AT Hldioleh Sl HR HAAT S Hldfolh
Tt X A5 W F
Teh 3TAIET U AT T AR 3HIET gl ST 8, Teh JehR T IRk AT
THHIRADIT ST § SN AT T F TYSUISH & Ferol AR 9IS gerdt 3]
3R FT SColed S &THAT I@dT ¢

HARAT HARIT Teh HATSN Sl HshIAeh W7 ¢ S FIsaAl 3N 31T STl
T T B1 HARAT XX WI&T0l & FROT ofcl & FHaTdl HHAAR W @,
gele, 3edt 3R e anfAer gl €1 #AaRAT careAfsas wag & Uehol-ahifRremt
aTel GEH Sidl & HROT gl 81 Ig W1 Fad 31 FHfAT Arer watftvedrsr
AooX | el gl
FIAAT THel-FIRIEHT Tl Felole THRATH T T SAe18 &1 g IS §
Fifh Tg TPfd H gecifher (IS H 3YHNET H aA1iRe) iR 3iferelifhs
(39T AT TAT SoIT Tohdl g) aleil gl SH & WSS & 7 F dT =1 Srar
gl

4. In the given diagram name the disease.
few 31T 3@ # 9T FT ATH IATBT |

a) Mumps/HFCH

b) Elephantiasis/Teltheel 3 ad

¢) Gonorrhea/aM=AR=T

d) Dermatitis/Eﬁagﬁ'\q
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Lymphatic filariasis, commonly known as elephantiasis, is a painful and profoundly
disfiguring disease. It is caused by infection with parasites classified as nematodes
(roundworms) of the family Filariodidea that are transmitted through the bites of infected
mosquitos.

forhies wEaRar, Gd 3madk w vfokfeaf@y & ®7 &7 S&r Jrar §, v
aah R TR ®T F faPpa A arel AR ¥ Tg FEARAEEAT gRar &
AATCIS (W3SAH) & &7 H Fefiehcd WSTAAT & HHAVT & HROT Gl § AT HebiAd
FTORT & Pt ¥ Pherdr gl

5. Upto which element, the Law of Octaves was found applicable?
315eeh T TAIH Fohd ded e oIa] arT aTm?

(a) Oxygen/m\_ﬂﬁ
(b) Calcium/ hiorr=IH
(c) Cobalt/ idTee

(d) Potassium/ GrefR=er

Table 5.3 Newlands’ Octaves

. sa ga ma pa da ni
Notes of music: (do) (mi) (fa) (so) (1a) (ti)
H Li Be B C N O

F Na Mg Al Sl P S
Cl K Ca Cr Ti Mn Fe
Co and Ni Cu Zn Y In As Se
Br Rb Sr Ce and La Zr — —

The law of octaves found to be applicable up to the element Calcium (Ca). In 1866, John
Newlands, an English scientist, arranged the then known elements in the order of increasing
atomic masses. He started with the element having the lowest atomic mass (hydrogen) and
ended at thorium which was the 56th element. He found that every eighth element has
properties similar to that of the first. He compared this to the octaves found in music.
Therefore, he called it the ‘Law of Octaves’ and hence it is known as ‘Newlands’ Law of
Octaves’. It was found that the Law of Octaves was applicable only upto calcium, as after
calcium every eighth element did not possess properties similar to that of the first.

ocTeh @1 fTH HTeRIA (Ca) ded I AL BIaT 1 1866 H Teh 3T daAlioleh Silel
TgIgH o dcshlellel Al dedl &l d6d @Wﬂﬂ%aﬂ?ﬁmﬁﬂﬁﬁ?ml
37giel HaH HH GHAIY] SeFAT (§T53Iei) dlel ded ¥ YE fohar 3R ias w
Wg’ma’rserﬂdca AT| 3ol AT fh 9cd&h 36 ded H gt & AT
0T B &1 378l T Jolell Halld H UIT ST Tl Hocleh @ hI| SHTAT, Sogiol
S '35ceh & THIH Hgl AR ST 38 'wYlsd' 3r5ceh AT [FATd & § H el
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ST 1 I§ 9T a1 b 3r5¢eh 1 [HTH hao Hio@HA de &1 ] T, Fifeh
HIRIHA & dlg Tcdsh HT6d ded H Ugel & FHA 0T 16T U

6. Which of these belong to the same period?

SAH A HlTSHT FIAF &2
Element A B C
Atomic number 2 10 5
(a)A, B
(b) B, C
(c)C A
(d)A,Band C

Reason. B(Neon)=10 (2, 8), C (Boron)=5 (2, 3) Both have 2 periods.

7. An element ‘A’ belongs to the third period and group 16 of the Periodic Table. Find out
the valency of A.

Teh dcd T 3Tad HROMN & ArEY 3Tad 3R THg 16 W HORT &1 A T HAVSTehdT AT
EQIEY

(a) Valency = 6/ GITSThdT = 6

(b) Valency = 2/ GITSTehdT = 2

(c) Valency = 1/ GITSTehdT = 1

(d) Valency = 3/ GITSTehdT = 3

8. Which of the following is used to measure obesity?

frIfoarflad # & fraerr 9a1eT Al I AT & forv fhar Srar g?

(A) PMI

(B) BMI

(C) AMI

(D) KMI

The most basic method, and the most common, is the body mass index (BMI). BMI is the
most convenient way to classify body fat mass and obesity. There are, on the other hand,
better methods to measure whole body fat levels.

SIS) A 399 (ITA3NS) T iAGET 3R Fod 3MA alehr g1 dvAsms W A
TN oA 3R AT &Y gafiehe] el ol TaH FlauToleis i gl qad 3K,
W R F qq F TR/ A AMS & v 9gaw i gl

9. From among the sets of terms given below, identify those that are associated with the
gynoecium.

AT feU 31U eree o g H F, 37 Area] T TgHled Y Sl SIS haH A S &
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(a) Stigma, ovule, embryo sac, placenta/ Foleh, 33T, Wﬁ?—ﬁ, T ger
(b) Thalamus, pistil, style, ovule/ &eldd, THhaT, AT, 37ETHR

(c) Ovule, ovary, embryo sac, tapetum/ 3-13'IT=I?IT, 3-13T?W, SH;UT ﬂ?ﬁ, SUeH
(d) Ovule, stamen, ovary, embryo sac/ 3-1'5'@?, C_ﬁ“ﬂ?, 3-1?>T?W, HRTQB?F

Gynoecium- the female reproductive organ of flowering plants which consists of units called
pistil.

Following are the various parts of a pistil:

* Ovary containing ovules (bear embryo sac)

* Stigma

* Style

* Placenta refers to the point of the ovary where ovules develop in a plant.

Androecium: The male reproductive organ consists of units called stamen. The stamen has
two parts

* Anther- contains microsporangia whose innermost layer is tapetum.

* Filament

Thalamus: The swollen part of the flower from where structures grow is called thalamus. It
is a part of the flower but is not a part of gynoecium.

tigma

Stamen
Anther

Pistil_Style

vary

Ovule Receptacle or

Parts of a flower : Thalamus

Gynoecium- el dTel Uil & ATGT Wolelel 37e1 foraed e ame swsar g g
e F [ffea grr Feafafaa §

* 3TSTI FeFT JSTO] (3T 30T Aelh)

* Tholch

* et



GENERAL SCIENCE /IMPORTANT QUESTION — SAMPLE PAPER 12

* ToldieT 3781 & 39 dg @l Hefdid dl & S8l Toh 9y & diens faehfad gid
gl

Androecium:wmﬁﬁﬂ&m{ ATHh $¢I$QTE’IT-?(%I gwaza’raqmgﬁ
e

* TR- A ABHEINTT giar § g ged fadl g <UeH gidr &l

* fhelTdHT
?ﬁﬁmﬂ:Qﬁwﬂﬁgmﬂmdﬁﬁémmﬁmﬁa?ﬁﬁﬁmm%l
IE ol 1 REAT & Afehed ameaisfaras & fRear 787 g

10. Bromine reacts with saturated hydrocarbon at room temperature in the
ST AT & ATATT T HJCd FTSIhIel & AT FiAfhar Hidm §
(a) absence of sunlight/ FIST T AT T H@'@?ﬁ

(b) presence of water/ 9T &I 3iEAfa

(c) presence of sunlight/ {IsT Fr e Hr 3UTEATT

(d) presence of hydrochloric acid/ g8sIFaliReh TRAS Fr 3ureafa

In the presence of sunlight, bromine reacts with saturated hydrocarbons and the process is
called halogenation of hydrocarbons. In this reaction, the hydrogen atoms in the hydrocarbon
are substituted by the bromine atoms

I & gl AT 3URATT &, S1efleT Hod gISgielasd & Y Fidfshdl ¥ar ¢ 3R
SH YTshdT &I GISZIehlelal I golloleilehi0l &gl SiTcl ¢l 6 Sidfshadl &, grggiehrest
H gI3grolel AU I seflel GRATILT earT gfaenfid fonar Siar @

CH,— CH,—CH;3 | CH — CH,—CHj
—

lV\N

Br=— Br

O— CH — CH, —CHj;
Br A)

11. Which of the following is alkali?
fArafaf@a A a &l e e?
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(a) Sodium hydroxide/ BTSTH EISSIFATSS
(b) Calcium carbonate/ Ffca wefac
(c) Copper carbonate/ IR FHIEfAe

(d) Carbonic acid/ &Tsffae Tiag

Alkalis. Alkalis are bases that dissolve in water. Common alkali-containing substances are
lyes, ammonia, hair-relaxing agents, nonphosphate detergents, dishwasher soaps, and disk
batteries. Lyes are alkaline agents that contain sodium hydroxide (NaOH), potassium
hydroxide (KOH), or calcium hydroxide (Ca(OH)2).

&R &R U &TR § St ulell & gof Sd 1 AT &R Jobd 9erd orsd, 3,
STell &l HRIH ol aTel Toie, Alpiehe f3esice, 3eranRr e 3R f5eh dadt ¢l
ST &I Toie gld ¢ Toidd HIf3Te grssiddrss (NaOH), AiefRITH grssiadrss
(KOH), T TR gIS3IFASS (Ca (OH) 2) BIAT &

12. Which of the following is a natural phenomenon which is caused by the dispersion of
sunlight in the sky?

feFITer T & & hieT HY Teh UTehfcieh TEHT & ST 31TehTRT # G o Teh1er o holld o T
BIci &7

(a) Twinkling of stars/ TR &1 feATECHTAT

(b) Stars seem higher than they actually are/ AR aFeda & 37 J:_I’dnlslcq BRI R

(c) Advanced sunrise and delayed sunset/ﬁﬁﬂ‘mﬁﬁﬁﬁﬁw

(d) Rainbow/é‘;{ﬂﬂ'q

Dispersion of light is the separation of white light or visible light into different colors is
known as dispersion. Formation of rainbow is a natural phenomenon which is caused by the

dispersion of sunlight in the sky. The sunlight splits into 7 colors, namely, violet, indigo, blue,
green, yellow, orange and red.

TShTRT ST FhTOT QA WehTRT AT T TehTRT ST 3TeTaT-3TeTaT La11 3 37191 &7 fI&TIUT ShgelTdr
€| STV T TeToll Ueh HTehcleh EICHT & it JTTohTRr 7 G o Fehl2l o TaE o RO gici
& | G T Yeh1er 7 I 3 TITTrd @1 &, 31T Sfareit, sfveT, e, &1, drelt, ARl 3R} oot
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How a Rainbow Forms

—UQM } Refraction

Refraction i -
What we see

13. The defect of the eye in which the eye-ball becomes too long is
3G FT Y fHGH ATMNeIH g CEIECIGIES

(a) myopia/ATAITAAT

(b) hypermetropia/ BTSURHCITIAT

(c) presbyopia/ IgaTA AT

(d) cataract/ AfaATEE

Myopia is also known as nearsightedness, in this defect a person has a problem while seeing
the far object. Image formation takes place in front of the retina. When the refractive power
of the lens becomes too strong, the eyeball becomes long. The concave lens helps to cure
myopia by focusing an image on the retina.

ANOAT A Aehe TfSe Q9 o sgd 8,30 Y & Ifed HT gT A a&] @ |
FHEAT gidr g1 gfafers &1 AT IR & AHA giar g1 S o " AT Igddh
ar%agﬁmam?ﬁ%,sﬁﬁw‘mqn oIdT 8 ST g1 3fadd o e |
SId Shigd Fh AT I S FA H A FT 2
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Lens too strong Eye too long

L]
\\'\/ N

Eye too short

(b) Hyperopia
14. The amount of light entering the eye can be controlled by the

3G H G et dTel TehTeT hl ATAT I fohdieh garT fAIT3d fohar ST dehdr g2
(a) iris/3-l'|':“;ﬁ¢f

(b) pupil/JcTell

(c) cornea/ HiTeIAT

(d) ciliary muscles/ Fafer3lr ArEafRar

Cornea: The cornea is the clear, outer part of the eye’s focusing system located at the front
of the eye.

Iris: The iris is the colored part of the eye that surrounds the pupil. It regulates the amount
of light that enters the eye.

Pupil: The pupil is the opening at the center of the iris through which light passes. The iris
adjusts the size of the pupil to control the amount of light that enters the eye.

The ciliary body is a circular structure that is an extension of the iris, the colored part of the
eye. The ciliary body produces the fluid in the eye called aqueous humor. It also contains the
ciliary muscle, which changes the shape of the lens when your eyes focus on a near object.

PIIAT: PITAT 3T & TAHA AT 3G & BIHIAT {ECH FHI TS, Sgdr ffEar
gl

aRaTRenT: aRATRET 3@ &1 e 1T § S goell 1 Bl 81 I§ 3@ H qaer

T arel UehIer 1 AT Fr AT aar g

qeToll: Jeloll IRATRT & e & 3e@ied ¢ S8 AT § Yl IRl g1 3@
H YA F dlel FehIM AT AT A RT3l & faw aRaRewr goelr & MR
A FAITST Fr gl

AfeRir 98 v Meer G § o 3Ry, 3w & T REy &1 [{ear B

fAfe3ir 18 3@ F R 91 FT 3cUled FLAT & o TllT gTET FHgl AT g

10
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sgd ARy Araael ff g1t & S 9 & 3R & deo Sdl & o9 39T 3W
fordl T aeq W el Sfed e

Sclera

15. The two oviducts in a hurhan female unite into an elastic bag like structure known as
Tsh AlId Afgerm A & BSaarfgel v eiuer do1 S T & Uahole gl & 5
& ¥ H AT AT §

(a) Vagina/ 3fr

(b) Uterus/ ITATT

(c) Fallopian tube/ eIt =Cl

(d) Cervix/ IR At

11
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Fallopian Tube Uterus Fundus Uterine Tube

Endometrium
Fimbriae
Myometrium
Vagina
Cervix

The uterus is a muscular bag like structure also called as the womb placed in the pelvic
cavity of the females. The upper end of the uterus is called as the fundus which is connected
to the oviduct or the fallopian tube, one each, on the lateral side.

AT T 9N Py Sy T gt & 5 At & dfcas FRdE & w@r
T 1Y T FET SATAT §1 IHRT & FWT BY P H5H Fgl AT § S Baariger
1 HellfUel TG A ST BIdT &, Ycdeh u1ed &l |

16. The compound which gives a brisk effervescence with sodium metal and not with
sodium hydrogen carbonate is

ag A S WfETA gregioi Frefde & A =1g1, dfoh @EAH a1 & Ty ds
gegeTee &l §

(a) ethanol/ 3?:1?1}!’?{

(b) ethanoic acid/ Uﬁ?ﬂ?ﬂ? tfas

(c) both ethanoic acid and ethanol/ UQ?I?-I’ISEF tfas 3R gﬁﬁﬁ G

(d) none of these/ SaTd q Tﬂ%’ Tl

The compound which provides brisk effervescence with sodium element and not with
sodium hydrogen carbonate is ethanol.

gg il S ASTH gIB3IoleT PIElic & AT 1gT, Slodh AISIH ded & AT ool
deqalge el #dr g, 3yl g

17. How many electrons are flowing per second past a point in a circuit in which there is a
current of 5A?

v aRwy 7 5w sAH onT §, v g F ufa A fhaer soiacie waiied &
W &
(a) 61.25x 10-°C

(b) 61.25 x 10*°C
(c) 31.25x 10*8C

12



GENERAL SCIENCE /IMPORTANT QUESTION — SAMPLE PAPER 12

(d) 31.25x 10°18C
Given,
Current, | = 5A
Time taken, t = 1s
We know that,
I =Q/t
Q=Ixt=5x1=5C
Number of electrons presentin 1.6 x 10°C =1
Number of electrons present in 5C = (5)/(1.6 x 10*°) =31.25 x 108 C

18. find the current in the given structure.

&Y IS EITT H 4R AT HITAT|

20 Q

VVAAA-
/ 100 \
A AAAAA- B
\ 50
AN

g
A
—

a) 1.2A
b) 2.1A
c) 5.0A
d) 0.5A

Given, R1=20Q,R,=10Q,R3=5Q
Voltage V=2

1 _7
Req 20
Req-

By ohm’s law, V = IR
20

6=Ix—
7

2

I_10
1=2.1A
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19. In which mode of nutrition an organism de-rives its food from the body of another living
organism without killing it?

AoT 6 foh farem & Teh Sita g@ Siid & R A Toe11 A 31971 $itste feyenrel ofcr 2

(a) Saprotrophic nutrition/ E9TeITthes GIyoT

(b) Parasitic nutrition/ 93=iraT 9roT

(c) Holozoic nutrition/ ?I?‘I’IGIEEW'UT

(d) Autotrophic nutrition/ TGS GIYOT

Saprophytic nutrition: In this mode of nutrition, organisms obtain nutrients from dead and
decaying organic matter. These organisms are called Saprophytes. Example: Yeast
Parasitic nutrition: In this mode, the organism lives inside or outside the body of another
organism. It takes nutrition from the other organism without killing it. Such organisms are
called parasites. Example: Ascaris (roundworm) are parasites on the human body.
Holozoic nutrition: Organisms which show holozoic nutrition feed on complex matter. This
matter is digested and nutrients are absorbed. Example: Human beings

Autotrophic nutrition is a process where an organism prepares its own food from a simple
inorganic material like water, mineral salts and carbon dioxide in the presence of sunlight.

HTSdr GYuT: 9IvoT &t 37 AU # Siig #d 3R S aTed el geardt &
QY& dcd UTed X &1 3T Sidl r JUHSCH gl ST g1 38T @HR
qetdT Ao S faer 7 Sfig gEt Sfa & R & 37X A1 9EX @ € TE g
S O f9ar AR & 99T o dr &1 0F Sial I Woelidl el STl &1 3&Tg<oT:
TEHRT (W33A1H) AT RR W WRaiar &

grelleiigsh 9INUT: Siig S SAfeel Jard WX glalieiisse avor His feard §1 I8 gary
T ST § 3R 9iveh ded 3G 8 ST 81 3ere}on: Helsy

AU 9IYoT Teh UET GishAr § o Sha §F & Wi @ 3utefa # Ot wiete
AqUT 3R A SEIHFASS ST ATYRUT heielsh Terdf ¥ A9 Hioll T&ag
dIR T g

20. When object moves closer to convex lens, the image formed by it shift
SIS g 3eel o & &hdIe STl 8, Al 3Heh GaRT F=1TS 375 Bid Jeel Siiell &
(a) away from the lens/ @I’HQ}IE‘,\T

(b) towards the lens/ o1& &1 31T

(c) first towards and then away from the lens/ W@fﬁ?ﬁﬁﬂ“@ig
(d) first away and then towards the lens/ qgﬁﬂg&ﬁ?ﬁﬂ@lﬁ@f&lﬂ?

Explanation: As object moves from infinity towards optical centre of the convex lens image
is shifted away from its focal point and towards infinity.

S &1 aE 31eTcl U 3ol o & HTTCeehol the i R Tedll g, Bid 39 Pichel fdg ¥ &Y AR
37icl T 3R EATATAR BT STl B

14
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A 5
A

Cl :Joi N\ Fz 2}"2 B’
b4 31 I 31 G

N

(d)

A'

A'

M
IF, | (&} B'2ZF, F,B G
Cl ‘s C]

N . N
(e o
21. The resistance whose V-l graph is given below is

o gfaer &1 v-1ame i Gar T § 9w §

=9
©
26
>
3
0 5 10 15 20
I (ampere)
5 3
1) — Q by =Q
(@) 3 (D) 5
.5 2
(¢) 5 Q (d) g’ Q
Explanation:
(a) Resistance = slope line of V-l graph =
9-0 9 3
15-0 15 5

22. Electric potential is a:

ﬁ?&lﬂ'%ﬁ-’lﬁ'%

(a) scalar quantity/ 37T er fer

(b) vector quantity/ Tfeer Tfr

(c) neither scalar nor vector/ o @l 37f¢ar 3w & §r afesr

(d) sometimes scalar and sometimes vector/ &Y 31feer 31T shaft afeer

Electric potential is the electric potential energy per unit charge. A difference in electric
potential gives rise to an electric field. Electric force and electric field are vector quantities
V=U/q,

15
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U is the potential energy

g is the charge,

V ;is the electric potential.

Thus, Electric poten

tial is a scalar quantity.

23. Select the correct order of energy conversion in thermal power plant-

a9 fdega @aa &
(@) Meal -
energy -
(b) Chemical -
energy -
(¢) Solar -
energy -
(d) chemical
energy -

ol FUTAOT & TG SheT T TTeT -
mechanical energy

electrical energy

Mechanical energy

electrical energy

electrical energy

mechanical energy

solar energy

heat energy

(b) chemical energy — heat energy, mechanical energy, electrical energy

(&) TaTafAE FAr

24. What should we do to dilute a concentrated acid?
Teh Ao, 31 T o] el o [T, §H FIT AT AR T ?
(a) water in dilute acid/?—lﬁmﬁm?ﬁ
(b) water in concentrated acid/ 9Teg 3ol & 9Tt
(c) First acid into water and then water into acid/ WWW?WWWW

H 3Fof

(d) concentrate

Concentration:

d acid in water/ 9Tl H Hlog, 37FeT

A concentrated solution contains a large amount of

solute per litre of solution e.g. strong coffee

A dilute solution co

ntains a small amount of solute per

litre of solution e.g. weak coffee

G

‘ — NSl

— —

B s

1 I PXe) (%)Oo% j

| o |
N

Dilute solution

Concentrated solution

A strong acid should be added steadily to water since this results in the release of a large
amount of energy (an exothermic process). The heat is dissipated much more effectively

16
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throughout the water, because of its high specific heat capacity. On the other hand, adding
water to concentrated acid makes the solution to boil violently, splashing concentrated acid
out of the container.

Ul H Ueh Holqd TS &l oA AT Sier =@ifge it S@d 931 AT #
il (Th TFalliafde ufhan) Aserdr g1 sadr 3T ST dT &#ar & HROT,
QT A AT 3RS G GoT § Wel ST Bl @Y I, Wig 3Fe H dred
o & 9 §0e §9 & 39 9T &, ad Il 37 il dheok I 8T
e feam ST gl

25. Sodium and chlorine are reacted and as a result, sodium chloride is formed which is also
called table salt. What option gives the reactants and products of the reaction?

ATSTA T FelIeT hr FTATHAT Blch & IR TROTATIET GITSTH FINISS ToIcT & Tord
<ol Tlee Y FgT S1ar & | wfaferar & 31fReReT 3R 3curet o i a1 f[dsea &arg?

(a) reactants — sodium; products — chlorine/ IfAPRSE - AFTH; 3cue - FAT

(b) reactants — sodium and table salt; products — chlorine/ FAPRSE - @ifsgd i e
ATe<; 3cUTE - Follllel

(c) reactants — tables salt; products — sodium and chlorine/ 3T AR - ead dTed; 3G -
AfsTa 3R FeleT

(d) reactants — sodium and chlorine; products — sodium chloride/ 3TTHPR - afsTe 3k
FARIeT; 3cUTG - QST FaRSS

great amount of
light and heat is
released.

2Na,, + Clyy — 2Nadl

(s)

Sodium chlaoride

Sodium meta Chlorine gas :
soft, silvery- Pale yellow- White- crystalline
white metal green colour solid
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